B) 4 states:

State 1 — refrigerant leaves superheated at 2.7°C

State 2 — applying and isentropic efficiency of 80%, find state 2 on the pressure — enthalpy diagram,
and then calculate the actual enthalpy at state 2.

State 3 - the refrigerant leave super cold by 6.3°C.

State 4 — refrigerant, undergoes a throttling process, so it experiences a drop in pressure with no
change in enthalpy.
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F) first, find the Worklpgar‘vaiymass (W) and then use the mass flow rate to find the total power

required. TKW equals 1.341 HP.
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7) Calculations

A) assume conditioned space at 75°F equals 24°C



